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e W = 490 kN/nf
N ] N ] N _ 1w = 596 kN/m (RHE)
a\ A A U)‘
—=®e w o= 490 X 2.000
S = 9.80 kN/m (Ffa)
L 6400 | 6400 | 6400 | T W = 490 X 1.050
) ) ©) @ = 5.15 kN/m (kA8
(D) S A5HE
C = 1/12-w-(L* - 2+a* a®/L) +1/12-w’-(L® - 2-a’% &’*/L)+ 1/12-W’-L*
= 1/12 X 980 x( 6.40 - 2 X 2.00 %+ 2.00 ®/ 6.400 )
+ 1/12 X 5.15 x( 6.40 - 2 X 1.05 *+ 1.05 */ 6.400 )
+ 1/12 X 3.96 X 6.40 *°
= 58.2 kN-m
MO = 1/24-w+(3-L* -4+ a®) +1/24+w’+(3+ L* - 4 a’*)+ 1/24-W’-L*
= 1/24 X 9.80 X( 3 X 6.40 - 4 X 200 ?)
+ 1/24 X 5.5 X( 3 X 6.40 - 4 X 1.05 ?)
+ 1/8 X 3.96 X 6.40 *°
= 89.4 kN-m
Q = 1/2-w(@L-a)+1/2-w+(L-a)+1/2:W-L
= 1/2 X 9580 x( 6.400 - 2.000 )
+ 1/2 X 515 x( 6.400 — 1.050 )
+ 1/2 X 3.96 X 6.400
= 48.0 kN
I R (T B — A B)
35.0 69.9 58.2 58.2 69.9 35.0
A 516 % 458 % 516 *
| 6400 | 6400 | 6400 |
@ @ @ @
-O~0M O 0.6.C = 0.6 X 58.2 35.0 kN-m
Hh o M0-0.65-C = 89.4 - 0.65 X 58.2 51.6 kN-m
@ 1.2C = 1.2 X 58.2 69.9 kN-m
@O~ @i C = 58.2 kN'm
Hh o M0-0.75-C = 89.4 - 0.75 X 58.2 45.8 kN+m
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b X D = 30 X 55 cm
dt = 6.2 cm d = 55 - 6.2 = 48.8 cm
j = 7/8 X 48.8 = 42.7 cm
i 08
C = M/bd® = 69.9 X 1000000 /( 300 X 488 *)

0.97 N/mm® —>O0VEWEHLLT

at = M/ ft-]
= 69.9 X 100 / 215 - 42.7 = 7.62 cm’
Bl A% 4-D19 ( 11.48 cm?) MEL 0.66 < 1.0
PSS
C = M/bd® = 51.6 X 1000000 /( 300 X 488 ?)
= 0.72 N/mm®> —oO0SWEERHELLT
at = M/ ft-]
= 516 X 100 / 215 - 42.7 = 563 cm’
Bl A% : 3-D19 ( 8.61 cm?) MEL 0.65 < 1.0
Q)FAWr O
T = Q /b']
= 48.0 / 30 - 427
= 0.038 kN/cm® ", OK

t/fs = 0.038 / 0.080 = 048 < 1.0 ..OK

S.OK

S.OK



